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2 READ Q, Hy, A, C, Uy, H, S, D

5 Eo=Ug#Uo/19.6+H+S

7 A=19.6%¥A%A:Q,=8%xQxQ:H¢=1

10 H,=Q*SQR (1, (A% (Eoc—-H¢) ))

15 IF ABS (H,-H¢) <0.01 THEN 25

20 Hc=H,:GOTO 10

25 Hp=Hc¢/2% (SQR(1+Q,/ (9,8%¥HcA3) ) -1)
30 IF HB>HT THEN 50

31 H;=INT (H; %1000 ) /1000

33 Hp=INT (HB*1000) 1000

35 LPRINT “h¢="3 Hes “b,=” 3 HB

40 LPRINT “h,=” 5 H;: LPRINT : GOTO 220

50 S=1

60 Eo=Eo+S

70 H,=Q*SQR(1/(A;%* (Eo-Hc¢) ))

75 IF ABS(H,-H.)<0.01 THEN 90

80 Hc=H,:GOTO 70

90 Hzy=H¢ /2% (SQR(1+Q,) / (9.8%H:A3) ) -1)

100 Z=Q*%Q/19.6% (1 (CA*H;)AN2-1/(C*xHB) A2) -

110 S;=C*HB-HT-Z

120 IF ABS (S,-5)<0,01 THEN 132

130 S=S,:GOTO 90

132 Hc=INT ( Hc %1000 ) /1000

133 Hp=INT ( Hp %1000 ) /1000

135 S=INT (S #%1000) /1000

138 Eo=INT ( E¢ %1000 ) /1000

140 LPRINT “S=7 3 S: LPRINT “hc=7 5 H¢

145 LPRINT “h,=” 5 HB : LPRINT “Eo="” ; Eo: LPRINT
160 F=Q/ (SQR(9,8) *HcAL.5) |
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170 IF F>9 THEN 190

180 L;=9.5%¥Hc* (F-1) : GOTO 200

190 L;=Hc* (8.,4% (F~-9) +76)

200 Lx=INT (D=#*L,%*1000) /1000

210 LPRINT “Ly=?”; Lg : LPRINT

220 END

230 DATA (Q), (H), CA)y, (Vo), (H)Y, (S), (D)

(=) FORTRAN E&EfF

Eo=Uo* %2,719,6 +H+S
A=19.6% A% %2
Q:=8,%Qx% %2
Hc=1,
10 H1=Q*SQRT(1./(A1*(E0—Hc))
IFCABS(H,-H¢).LT.Q,) GOTO 25
He.=H,
GOTO 10 ,
25 Hpg=Hc/2.% (SQRT(1.+Q,/ (9.8%¥Hc*¥*3) ) —1,)
IF (HB.GT.HT ) GOTO 50
WRITE (5,100 ) H;, Hey, Hp
100 FORMAT (5X, 3Hhc=, F8.3, 10X, 3Hh,=, F 8.3, 10X, 3Hh.=, F8.3)
GOTO 220
50 S=1,
Eo=Eo+S$S
70 H,=Q#*SQRT(1,/ (A% (Eo-H¢) ) )
IFCABS(H,-H¢) -LT-0.01) GOGO 90
H:=H,
GOTO 70
90 Hp=Hc/2.% (SQRT(1,+Q,/ (9.,8%Hc* ¥3) ) —=1.)
Z=Q%%2/19.6% (1./ (A*H;) * ¥2-1,/ (C*Hp) % %2)
S$,=C¥Hy~-H;-Z
IFCABS(S5,-S) -LT+«0.01) GOTO 130
5$=8§,
GOTO 90
130 F=Q,/ (SQRT (9.8*H=* %1,5)
IF(F.GT-9,) GOTO 140
Li=9,5%¥HC* (F~1.)
GOTO 150
140 L,=H;* (8.4% (F-9.) +76,)
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Li=D=xL, ’
WRITE (5, 200)S, He, Hy, Eqy Lx :

200 FORMAT (1X, 2HS=, F8.3, 5X, 3Hhc=, F8.3, 5X, 3Hh,=, F8.3, 5X,

3HE,=, F8,3, 5X, 3HL,=, F8.3) ,
DATA Q, Hy, A, C, U, Hy, S, D/10,82, 3., 0.95, 1,05, 1,53, 6,96
0., 0.8/
END
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230 DATA 10,82, 3, 0.95, 1.05, 1,53, 6.96,
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4, FORTRAN FEEEHERESR
WTEA, HREEZIEMEENS, bR,
DATA Q, H, A, C, Uo, H, S, D,710.82, 3., 0.95, 1.05, 1,53, 6,96,
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